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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1) udeneff wavem 31uR U9 U3 W Ak e o |

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) | U g A AfEr § |

YA UF Tl Wien & foTe T8t we

TEAR HERE TO OPEN THE QUESTION PAPER

Tear Here

All the questions are compulsory. |

3) Uk U9 T IW < TE IW-Yikaew ¥ & ford |
Write the answer to each question in the given answer-book only.
4) o uwt 4 s @ue E, 3 At & S U Wy @ ot

For questions having more than one part, the answers to those parts
are to be written together in continuity.
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S)

6)

7)

8)

9)

2
U U & B 9 et T @ TRt weer i e / o / fotieny e g w R v
& 9 I E T T

If there is any error / difference / contradiction in Hindi & English versions of

the question paper, the question of Hindi version should be treated valid.
9 1 IW ot | gd I ST Jravd o)

Write down the serial number of the question before attempting it.

oA shATeR 21 & 23 e § i faeed gl

There are internal choices in Question Nos. 21 to 23.

AT IR-YFereht & TSI o g1 AR feIRau| afe ig W T & &, @ SW-Yident &
aifom gst W 3R 32 Foeht gl | hlee 39 W T e o d)
Write on both sides of the pages of your answer-book. If any rough work

is to be done, do it on last pages of the answer-book and cross with slant
lines and write ‘Rough Work’ on them.

¥ AT 21 1 IS IT6 YW W S|
Draw the graph of Question No. 21 on graph paper.
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§ue - A

SECTION - A
(aegfe @ sfaagaaes T9A)

(Objective and Very Short Answer Type Questions)

1) F= ogis gval & S & g fawea oo o SW gitae @ faRau)

Answer the following questions and write them in the answer book by selecting the

correct option.

i)

196 % 19T UGS i At H ATEA & - [1]
) 1 | 2
|) 4 3) 6

The sum of the powers of the prime factors of 196 is

A) 1 B) 2
C) 4 D) 6
Tfe fgama oot x° — kx + 4 =0 & g 99E @, A & T R0 — [1]
A) =+l q9) +2
|) 13 ) 4

If roots of the quadratic equation x* — kx + 4 =0 are equal, then the value of
k will be -

INEES! B) =2

C) +3 D) +4

S—09—Mathematics |1205| [ Turn Over



i)y forg (3, 4) @ y-1e1 | g0 Al - [1]
H) 1 q) 2
|/) 3 3) 4

The distance of the point (3, 4) from the y - axis will be -

A) 1 B) 2
C) 3 D) 4
iv) 3x+2y=11 % G HE AT W - 1]
) (1,4) T (2,3
| (3,5) 3) (1,3

The pair satisfying 3x+2y =11 is -

A) (1,4 B) (2,3)
C) (3.5) D) (1,3)

v) oo e 34/3x + 10x ++/3 = 0 = Rl @ : 1]
H) 8 ) 30
|q) 46 3) 64

Discriminant of quadratic equation 3./3x2 +10x ++/3 =0 will be::

A) 38 B) 30

C) 46 D) 64

S—09—Mathematics | 1205|



5

vi) afe18,a, b, 3TUFR IQUR N q + b o WH g - [1]
H) 7 ) 11
|a) 15 3) 19

If 18, a, b, -3 are in A.P., then the value of a + b will be :

A) T B) 11
C) 15 D) 19
vii) 3sec45° cos45° w1 UM R - [1]
F) 0 [ 1
| 2 3) 3

Value of 3sec45° cos45° will be :

A 0 B) 1

C) 2 D) 3
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viil) = <t &g Sfen freeht oward o R B & 3 A, e § - 1]
a)  ProuEvg ) =™
) EwA 3) Uiy

A chord of a circle, whose length is twice the radius of the circle, is called :

A) Sector B) Diameter
C) Area D) Circumference
ix) U g i Brean 3.5 At 2, At g9 i Ui grit - [1]
a) 113 &) 22
|) 33ad 7) 44 o

Radius of a circle is 3.5 cm. Find its circumference.

A) 1lcm B) 22cm
C) 33cm D) 44 cm
X) O S TUl IS SR 486 TR i §, T <l Y1 S 919 gAm - [1]
A ouH ) 7o
|) 8 3) 9w
The total surface area of a cube is 486 cm?. Measure of side of the cube will
be -
A) 6cm B) 7cm
C) 8cm D) 9cm
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xi) @e13,5,7,4,2,1,4,3 3R 4 ageTh g - [1]
A 1 q) 3
|) 4 3) 7
The mode of the distribution 3, 5, 7,4, 2,1, 4,3 and 4 is -
A) 1 B) 3
C) 4 D) 7
Xii) Ueh U™ <Rl thehd W 4 A =T 31k A it TRk 7 Fifw) [1]
H) l q9) =
2 3
|) > 3) 1
4

In a throw of a die, determine the probability of getting a number more than 4 :

|
A)E B) E

C) D) 1

3
4

2) frefeiaa woAi 4 R vt 6 gid X ge Swyfeae | filsm)

Fill in the blanks in the following questions and write them in the answerbook.

i) 95 aen 152 @ ugwn gumedes (HCF) H| 1]
Highest Common Factor (HCF) of 95 and 152 is :
i) T PmTEEga 9t @ Wi A Hehedl 21 [1]

tangent can be drawn from a point on the circle.
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3)

cos’ 45° & U H| [1]

The value of cos?45° is

¥ A1 IR w9 Y@ % Iwafes fag e 2 1]

The common point of the circle and its tangent line is called

v) afe5, 7,9, x & GuRR WET 9 g, at x & o= g [1]
If Arithmetic mean of a distribution 5, 7, 9, x is 9, then value of x will
be

vi) @ UTEl R UF T ek W 3Tkt 1 AT 7 A hY Tirekar e [1]
In a single throw of two dice, probability of getting a total of 7 will
be

fd SRS T3

Very short answer type questions.

i)

k o form 7R W wHieR gm 3x— 2y =0 aut kx+5y =0 & 3 g9 g ? [1]

For which value of £, linear pair 3x —2y =0 and kx + 5y =0 will have Infinite

Solutions?

feama wfiemur gx? + bx + ¢ =0 % I T10 & 1 ofierrem g3 foRau) [1]
Write the Sridharacharya formula to find roots of quadratic equation
ax’ +bx+c=0-

forelt TR 9t (A.P.) %1 9o Ug ¢ Ud WTEST=R “d 7§, @ Ui ug o= gem e 1]

What will be the Fifth term of a Arithmetic Progression (A.P.) whose First
term is “a” and common difference is “d ”?
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iv) TEET Rt St aReiya i [1]

Define similar figures.

2tan30°
V) —l_tan23ooammsnaaﬁm| (1]
Find the val ¢ 2tan30°
ind the value o —l—tan230°'
Vi) \/1—cos’@ T HEM O =60° W M HitTU| [1]

Find the value of /] — cos2 @ at @ =60°.

vii) 10 Hiex I=it #FR & PR 8 gost ® U fog o s @i 30° 2| o i Hier
YR | g feraet gt ? 1]

From the top of 10 meter high tower, angle of depression at a point on earth is
30°. What will be the distance of point from the base of tower?

Viil) T 3LAMR B h ATy AT FEH DA hit G B FJU [ :/3 &, T T N 31
0T T i) 1]

If ratio of length of a vertical rod and length of its shadow is 1:./3, then find

the angle of elevation of Sun.

ix) 3w Broe A v ga S qen g O | 5 &t R o famg P & gw Y vt vl
it 3R 37w a1 faRau) (1]

Draw a circle with centre O and radius 3 cm and draw two tangents to the
circle from a point P which is 5 cm away from its centre and write the
measurement of them.
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X) 5 |t o v WEravg AB @it ud 38 2 : 3 % argur | faafa i) At it
g faRau) [1]

Draw a line segment AB of length 5 cm and divide it into the ratio 2 : 3. Write
the measurement of both the parts.

xi) el g o1 FroaEvg 39 91 1 agAiyl €, d FeaEug | g W aHH 9Tt Shivt T AT
T FA? [1]
If the sector of a circle is a quadrant of that circle, then what will be the
measure of the angle formed by the sector on centre?

Xiil) TS YRR | Wl T3 52 Ui hl U TS | | Ueh U1 (HehTeql AT 21 39 U o SgeTl g
& MideRal T FHif) 1]

A card is drawn from a well shuffled deck of 52 cards. Find the probability of
it being a ten.

G us - 9
SECTION - B
) 13
4) WMEWWWW| [2]
. . . . 13
Write down the decimal expansion of the rational number 125
5) =gug x’ —x— 6 % IEH A HRT 2]

Find the zeroes of the polynomial x> —x —6.
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6)

7

8)

9)

10)

11
fgama |t 4% —12x—9 =0 o HeAl i THid w1 Tar e 2]

Find out the nature of roots of the quadratic equation 4x* —12x—-9=0.

famgati (0, 0) iR (5, -3) T e 7 YETEvE ¥ wen fg & FRwE TR SRT? (2]

Find the co-ordinates of the mid point of the line segment joining the points (0, 0)
and (5, -3).

Teh TUAA T TR et HAR 6t S 3@ fufd ®§ 40 Hiex sifeer ol @ S @ Jate 93 &
I 0T 60° | T2 30° ST 3| HHAR 6t S 71 hifsTu) [2]

The shadow of a tower on a level ground is increased by 40 meter, when the
altitude of the Sun changes from 60° to 30°. Find the height of the tower.

6 | YT ok AT AT Teh AHATEHIYS hl o1 it 3R R o o Brgw & w=mn hifi,

. . ¢ o 2 .
ot sy few 2w Forger < = agematt 1 < T B 2]
Construct an equilateral triangle whose measurement of side is 6 cm and then

2
construct another triangle whose sides are 3 times the corresponding sides of the

given equilateral triangle.

4 Bt Forsen o U I WX UE Q Tu9 W@ GHTT S U g6 o SHIRR gl [2]

Draw a pair of tangents to a circle of radius 4 cm, which are parallel to each other.
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11) afe St aoea Bgsi & aawa s &, d@ fag fif fr a Byw watmm ga 82 [2]

If the area of the two similar triangles are equal, prove that they are congruent?

12) U g i Bren 7 At @ aU1 U 99 g g W 3Tid hivt 60° 31 39 Breerevs @ e
Fa Fifru) [2]

Radius of a circle is 7 cm and the angle subtended at the centre by an arc is 60°.
Find the area of this sector.

13) Uk Vg o fiser i fereder g 4 ot @ e goeh g i o ufwma (aitferar) 18 st 3iR
6 @it &) 50 fis=reh o1 oIk IS Qerhel Wi R [2]
The slant height of a frustum of a cone is 4 cm and the perimeters (circumference)

of its circular ends are 18 cm and 6 ¢cm. Find the curved surface area of the
frustum.

14) 2 ==i, 0 @ e &1 A 64 A 2, & ol WeTehl ol TR Ueh 31 ST ST 2
aRuT TR 1 I SR T it 2]

Two cubes each of volume 64 cm’® are joined end to end. Find the surface area of
the resulting cuboid.

15) = SRERan sie i w71 Hifs [2]

x |12 3| 4] 5| 6
fl2lal s | 4| 2| 2

Find the mean of the following frequency distribution.

x |12 3] 4| 5|6
fla2la ] s | 4| 2| 2
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16) U o=t ® 8 o1 o, 5 Wthg el OiR 2 R B 39 fosa 1 6 Uk e argesHn FHemten S
2| ZEeh! T TTRreRan ¢ for fentem T s [2]

(i) o e? (i) TTE2?

A box contains 8 red marbles, 5 white marbles and 2 green marbles. One marble is
taken out of the box at random. What is the probability that the marble taken out is :

(1) red? (1) notgreen?
@ UE - |
SECTION - C
17) & 9em 40 HTHE Yulichl 1 TR F1a Rl S 6 9 faars 21 [3]

Find the sum of the first 40 Positive Integers divisible by 6.

18) 3@ et =t gk T ShifTe frees 3t (2, 3), (=1, 0) @2 (2, —4) 2 [3]

Find the area of triangle whose vertices are (2, 3), (—1, 0) and (2, —4).

19) U et o BT & Ui 1 e | T3 gu 1 37em miemss W S| [3]
TR 0-10| 10-20| 20-30| 30-40 | 40-50
BEl H @& 4 28 42 20 6

The marks of students of a class are given in following frequency distribution.
Find their median.

Marks Obtained [0-10 [ 10-20 | 20-30 [ 30-40 | 40-50

No. of Students | 4 28 42 20 6
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20) &g O ot g0 W g forg T & @t wwet ¥@md TP aen TQ wii=ht 73 7| forg ifs s

21)

22)

Z/PTQ=2-0PQ 2 3]
Two tangents TP and TQ are drawn to a circle with centre O from an external
point T. Prove that Z/PTQ=2Z0PQ.

W us - §
SECTION - D
1 e odfteror gm i sTerE™ ot gro g i - [4]
x+y=14
x—y=4

Solve the following pair of linear equations graphically :

x+y=14
x—y=4
tEt/OR
Uk wert & 10 ferenferat A wftm i agett afenfian & s foran) afe weferat 6 oem o= @
T A 23U 71, 34 ferfa o e e e Ao fifkm) [4]

10 students of a class took part in a mathematics quiz. If the number of girls is 2
more than the number of boys, represent the situation algebraically and graphically.

forg Sifsre o - [4]

h_
LSA =cosecA—cotA
1+ cosA

Prove that :

/1_
LSA =cosecA—cotA
1+cosA

3rar/OR
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fag o e : [4]
(sinA+ cosecA)2 +(cosA+ secA)2 =7 +tan’ A+ cot’ A

Prove that :

(sinA+ cosecA)2 +(cos A+ secA)2 =7 +tan’ A+ cot’ A

23) o SR SeR W Tk T I [4]
=t 10-25 25-40 40-55(55-70 | 70-85 | 85-100
ARFRAT 6 20 44 26 3 |

Find the mode of the following frequency distribution :

Class

10-25

25-40

40-55

55-70

70-85

85-100

Frequency

6

20

44

26

3

3reEr/OR
T SRERAT JeA T WIS A hI [4]

|

0-20

20-40

40-60

60-80

80-100

FEIRAT

6

10

13

7

4

Find the mean of the fol

lowing frequency distribution :

Class

0-20

20-40

40-60

60-80

80-100

Frequency

6

10

13

7

4
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